| O | U 2| N g e || S
| =
o |[O | O | O = | N N |2 o
SRR R = I € oo i (e '
TS o|lO|x o g|s
o |9 == % = | = || 2 -
EX — | — = =
! % g <IN — = | = 5 =
g B =
=0 | 2 N = | = | 2
i = | C || = |
g = | (2 =
3 — | O || = | =
| UN O = |
220 | =
; — O =
= | B
—
=S
5
(]
3
s
3
2] 0.00 148.20[Proj. wigczenie do kanafu $200, Rz.d.=146.36 I_ @2
g —.| 1.84] 146.36 Ik
I
NO
T o |
g 29|12 G 146.41 148.20[Proj. wod. dosytowy #90, Rz.0.=146.90 o
3 ol
[
-+~
o
& 3.97 3 1.76| 146.44| 148.20| Zaslepka PE DN160
(e}
s =
- 2
3 g
[95) 0.00 148.70 Proj. wigczenie do kanafu 200, Rz.d.=146.91 w
= — [ 1.79] 146,01 o 1] &
I
i N
o w O 39
0T o\ Proj. wod. d 90, Rz.0.=147.40
2.01 5 g | 146.95| 148.70/Fr0). wod. OSV{OWV‘?’ , RZ.0.= . °
N
o~
7 3.37 3 1.721 146.98| 148.70| Za$lepka PE DN160
s =
5 o
35
4] 0.00 149.30 Proj. wiqczenie do kanafu 9200, Rz.d.=147.61 I_ |97]
& 8 [ 1.69] 14761 I_O 1 &
I
o Loel \N
ST EC Ll B 147.64| 14930 Proj. wod. dosylowy 890, Rz.0.=148.00 .
= ol ll
S
O
5 3.23 3 1.63] 147.67| 149.30| Zaslepka PE DN160
(@]
s =
5 ©
35
$ “ 0.00 1.50 148.00 149.50 Proj. wigczenie do kanatu $200, Rz.d.=148.00 I_ ]
F & _ 1.30| 148.20 I_ RS
I
) S N Proj. wod. d Rz.0.=148.10
« 150 S = \ag 148.23| 149.50/r0). wod. OSV‘fOWV, Z.0.= .
M 0 [ ¥
B O
S
& 3.12 3 1.24] 148.26] 149.50| Zaslepka PE DN160
>~
s =
5 o
35
éﬁ % 0.00 1.50 148.30 149.80 Proj. wigczenie do kanatu $200, Rz.d.=148.30 I_ »
= O — 1.30| 148.50 I_ 32
I
—
[
< 160 2 E — % 148.53|  149.80/Proj. wod. dosyfowy, Rz.0.=148.40
+~ O‘J H O
B O
S
o
5 3.04 3 1.24 | 148.56| 149.80|ZaSlepka PE DN16Q
(@2}
s =
5 ©
35
|92] 0.00 .50 148.80 150.30 Proj. wigczenie do kanafu $200, Rz.d.=148.80 I_ 7]
& g 30 149.00 I_5 ] &
i
o w ©
o © =
“ 93 5 g 149.02| 150.30/Proj._wod. dosytowy #90, Rz.0.=148.90 o
2 3.88 1.271 149.03] 150.30| Zaslepka PE DN160
D
s =
5 o
e
éﬁ % 0.00 151.60 Proj. wigczenie do kanatu 8200, Rz.d.=149.62 I_ ©
of & - 1.98| 149.62 I_ =]
i
N oo S
2 ° 5
8 O
2 2.05 1.93] 149.67| 151.60| Zaslepka PE DN160
C:O“
s =
5 o
35
2 0.00 151.60 Proj. wigczenie do kanatu $200, Rz.d.=149.62 I_ ©n
S [ 1.98]149.62 I_ NE:
I
— N
w | s \SX
3 2077 | — 149.67| 151.60|Istn. wod. dosytowy ¢90, Rz.0.=150.30 o
B O |
S
~
5 3.70 3 1.90| 149.70] 151.60| Zaslepka PE DN160
C:O“
s =
5 ©
35
$ % 0.00 1.50 147.70 149.20 Proj. wigczenie do kanatu $200, Rz.d.=147.70 I_ »
~f © _ 1.30| 147.90 I_ ©
—
- IBRsS
N~
o O
2838 O 147.95| 149.20|Proj. wod. dosytowy #90, Rz.0.=147.90
& 4.05 1.21] 147.99] 149.20| Zaslepka PE DN160
QO\‘
s =
5 o
35
éﬁ % 0.00 149.20 Proj. wigczenie do kanatu $200, Rz.d.=147.70 I_ | »
of © 5 21 1.50] 147.70 ©
P — S B ~
= |T 1002 3% 1.49] 147.71 149.20| Zaslepka PE DN160
«©
s =
5 o
35
% @ 0.00 .50 148.30 149.80 Proj. wigczenie do kanafu $200, Rz.d.=148.30 I_ ®
= o — 30| 148.50 I_ (=)
—
- 1RS]S
g >
—
280|183 O 14856 149.80/Proj. wod. dosytowy 890, Rz.0.=148.50
= 4.08 1.22| 148.58] 149.80| Zaslepka PE DN160
O«
s =
5 o
35
$ @ 0.00 149.80 Proj. wigczenie do kanafu $200, Rz.d.=148.30 I_ | ©
o < T 21 1.50] 148.30 3
3 — & 3 ~
= |~ 1005 3|5 149 148.31| 149.80| Zaslepka PE DN160
O\‘
s =
5 o
35 (
$ g 0.00 150.80 Proj. wigczenie do kanatu $200, Rz.d.=149.30 O g
2 1.50| 149.30 \\ =
—
N I e
g -~
3.02 ég % 149.39|  150.80 Wylot wod. dosytowy 890, Rz.0.=149.60 o
T 4.90 1.471 149.33] 150.80| Zaslepka PE DN160
=
= 42
o 2@
= (
$ w 0.00 151.30 Proj. wigczenie do kanatu 8200, Rz.d.=149.33 ) w
A —.] 1.97] 148.33 -
I
N
- NN
R e\ "
5o ee
SN0 . _
2.70 — 149.38|  151.30/Proj._wod. dosytowy #90, Rz.0.=150.00 .
S Of,
-+~
O
& 4.16 3 1.89] 149.41 151.30|Zaslepka PE DN160
“
s =
5 o
35
% ©® 0.00 1.50 150.20 151.70 Proj. wigczenie do kanatu $200, Rz.d.=150.20 I_ e
=T = — 1.30| 150.40 I_ —
I
NO
N
—
o I o
S o =
o O
8 O
4.81 — 150.50| 151.70/Proj. wod. dosytowy #90, Rz.0.=150.40 o
[
o
O
= 6.24 3 1.18] 150.52] 151.70| Zaslepka PE DN160
s =
5 ©
35
$ ©® 0.00 151.70 Proj. wigczenie do kanatu $200, Rz.d.=150.20 I_ wQ
SF = 1.50| 150.20 I_ —
i
N o O
S ° 5
B O
= 2.00 1.49] 150.21 151.70|Zaslepka PE DN160
s =
5 o
e
éﬁ @ 0.00 1.50 151.10 152.60 Proj. wigczenie do kanafu 200, Rz.d.=151.10 I_ ©
oSF w _ 1.30| 151.30 I_ ™
I
N
NN
—
- IS
S o =
—
5 O
—
1.96 N 151.40 152.60/Proj. wod. dosytowy #90, Rz.0.=151.30 o
o
T 6.12 3 1181 151.42]| 152.60| Zaslepka PE DN160
N\‘
s =
5 o
e
éﬁ @ 0.00 152.60 Proj. wigczenie do kanafu 8200, Rz.d.=151.10 I_ ©
oSF w N 1.50| 151.10 I_ ™
—
- Y 9
© P = — BN
& ; (ORI
Ol
= 1.98 el 1.49] 151.11 152.60| ZaSlepka PE DN160
N\‘
s =
5 o
35 {
éﬁ @ 0.00 153.80 Proj. wigczenie do kanatu 8200, Rz.d.=151.98 o
of @ _ 1.82| 151.98
I
NO
NN
—
o o
5 o
o O
S O
—
4.86 I 152.07| 153.80/Proj. wod. dosytowy #90, Rz.0.=152.50
o
o
z 6.03 3 1.701] 152.10] 153.80| Zaslepka PE DN160
w\‘
s =
5 o
35 {
$ @ 0.00 153.80 Proj. wigczenie do kanafu 200, Rz.d.=151.98 o
oS @ - 1.82| 151.98
i
N [4v) @ NS
o c = — %
< ; (O]
Ol
= 2.00 s 1.781 152.02] 153.80| Za$lepka PE DN160
w\‘
S
slaglsed |3 [REIER A
N R R R =
8RR 2 ]55 220 Q)
%%S%g@ 3%E§é
N = R e I > o »
AN RS I Y
n s N = | YOS 8E
IS 5y S8 S - k% ~
no ) ~ 3 S s =
no > IS) 3 S 3
< S o | w s c
E A
TS @
Q S X
SEHEE 4
N[N A S
REEEGESS
N IR e § %%
RITe|Rs | R | 2 |XT r
S N N
S1d 37T R |98 A
—_ S s 2
S § N N =~ % U
S | X Q) S Q) SRS m
S |9 < S o5 8 > O
SEIN S g ISS]§ < N
N R eS8 m m
S |Te R o
s.& 3o
o E RS g E U)
5 |z=n| 8 -
T 228 @ m
= 1
® SN =
5 - | o = <
o o © = O
3 Tls | . o
g ¢ s 0
: -
o S =
& o E
> N
o m O

eys

594




